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MAINS EXAM 2016 

1-The Self Help Group (SHG) Bank Linkage Program (SBLP), which is India’s own innovation , has proved to be one of 

the most effective poverty alleviation and women empowerment programme. Elucidate. IAS-2015 G S-2        

                                                                                                                      

2-Public health system has limitation in providing universal health coverage. Do you think that private sector can help in 

bridging the gap? What other viable alternatives do you suggest? IAS-2015   G S-2                                                                                                                                                 
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1-With a brief background of quality of urban life in India, introduce the objectives and strategy of the ‘Smart City 

Programme.”IAS-2016                                                                                                                               
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1. As per the NSSO 70th Round “Situation Assessment Survey of Agriculture Households”, consider the following 
statements:                                                                                                                                                        
1- Rajasthan has the highest percentage share of agriculture households among its rural households. 
2-Out of the total households in the country, a little over 60 percent being to OBCs. 
3-In Kerala, a little over 60 percent of agriculture households reported to have received maximum income from sources 
other than agriculture activities. 
Which of the statements given above is/are correct? 
(a)2 and 3 only  (b)2 only (c)1 and 3 only (d)1, 2 and 3  
ANSWER: (c)  
2. Consider the following statements:                                                                                                                              
1-The quantity of imported edible oils is more than the domestic production of edible oils in the last five years.                                                                                                                                                                        
2-The Government does not impose any customs duty on all the imported edible oils as a special case.                     
Which of the statements given above is/are correct?                                                                                                              
(a)1 only (b)2 only (c)Both 1 and 2 (d)Neither 1 nor 2      
ANSWER- (a)                                                                                                                                                     
3. Which one of the following links all the ATMs in India ?                                                                                                     
1-Indian Banks’ Association                                                                                                                                          
2-ational Securities Depository Limited                                                                                                                           
3-National Payments Corporation of India                                                                                                                     
-Reserve Bank of India         
ANSWER: (c)                                                                                                                                                        
4. Consider the following statements:                                                                                                                    
1-Capital Adequacy Ratio (CAR) is the amount that banks have to maintain in the form of their own funds to offset any 
loss that banks incur if any account-holders fail to repay dues.                                                                                
2-CAR is decided by each individual bank.                                                                                                               
Which of the statements given above is/are correct?                                                                                             
(a)1 only (b)2 only (c)Both 1 and 2 (d)Neither 1 nor 2     
ANSWER: (d)                                                                                                                                                    
5. Consider the following statement                                                                                                                             
1-The Food Safety and Standards Act, 2006 replaced the Prevention of Food Adulteration Act, 1954.                              
2-The Food Safety and Standard Authority of India (FSSAI) is under the charge of Director General of Health Services in 
the Union Ministry of Health and Family Welfare.                                                                                     
Which of the statements given above is/are correct?                                                                                                            
(a)1 only (b)2 only (c)Both 1 and 2 (d)Neither 1 nor 2  
ANSWER: (a)                                                                                                                                                         
6. With reference to the provisions made under the National Food Security Act, 2013, consider the following 
statements:                                                                                                                                                              
1-1-The families coming under the category of ‘below poverty line (BPL)’ only are eligible to receive subsidised food 
grains.                                                                                                                                                                    
2-The eldest woman in a household, of age 18 years or above, shall be the head of the household for the purpose of 
issuance of a ration card.                                                                                                                                      
3-Pregnant women and lactating mothers are entitled to a ‘take-home ration’ of 1600 calories per day during pregnancy 
and for six months thereafter.                                                                                                                  
Which of the statements given above is/are correct?                                                                                                 
(a)1 and 2 (b)2 only (c)1and 3 (d)3 only   
ANSWER: (b)   
                                                                                                                                                        
                                                                                                                                                           


